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QUESTION 1

In vCloud Automation Center, which connection option is available for a Windows virtual machine deployed to a
vSphere endpoint?

A. Connect using SSH
B. Connect using PColP
C. Connect using VNC
D. Connect using RDP

Correct Answer: D

QUESTION 2

An administrator needs to delete an External Network. When the administrator right-clicks the External
Network and selects Delete, the following error is displayed:

Entity ExternalNetwork cannot be deleted, because it is in use. What should the administrator remove to
allow the operation to successfully complete?

A. the connected vSphere Port Group

B. the connected Edge Gateway

C. the public IP addresses

D. the connected VLAN-backed network pool

Correct Answer: B

QUESTION 3

The load on a Fully Automated HA/DRS cluster is critically unbalanced. What condition could cause this issue?
A. DRS is disabled on one or more virtual machines.

B. The migration threshold is set to Moderate.

C. Storage vMotion is not enabled on the cluster.

D. Storage DRS is disabled on the datastore hosting the cluster\\'s virtual machines.

Correct Answer: A
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QUESTION 4
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-- Exhibit -

An administrator finds a network problem. Virtual machines on the 10.10.10.0/24 network are unable to
communicate on the external network.

What should the administrator do to resolve the problem?

A. Change the Translated Port from 22 to any.

B. Create a SNAT for the network 10.10.10.0/24 to pass traffic.

C. Create a DNAT for the network 10.10.10.0/24 to pass traffic.

D. Change the Protocol from TCP to any.

Correct Answer: B

QUESTION 5
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An IP address is provisioned from a vCloud Automation Center Network Profile static IP range. What will happen when
the workload using the IP address is destroyed?

A. It will be automatically returned to the range for reuse within minutes.

B. It will be batched with all reclaimable addresses and returned to the range daily.

C. It will be permanently marked as unavailable for that specific range to prevent IP conflicts.
D. It will be marked as unavailable until the range is deleted and recreated.

Correct Answer: A

VCPC550 PDF Dumps VCPC550 Practice Test VCPC550 Study Guide

VCPC550 PDF Dumps | VCPC550 Practice Test | VCPC550 Study Guide 4/4


https://www.passapply.com/vcpc550.html
https://www.passapply.com/vcpc550.html
https://www.passapply.com/vcpc550.html
http://www.tcpdf.org
https://www.passapply.com/vcpc550.html
https://www.passapply.com/vcpc550.html
https://www.passapply.com/vcpc550.html

